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The computer size was very large

in :

(A) First Generation

(B) Second Generation
(C) Third Generation
(D)} Fourth Generation
Full form of RAM is :
(A) Read Accesz Mode
(B) Root Auto Memory
(C) Read Access Memory

(D) None of the above

Data can be in the form of :

{A) Analog only
{B) Digital only
(C) Both (A) and (B)

(D) None of the above
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Main component of third generation

computer was ;

{A) Transistors

(B} Vacuum tubes
(C) Integrated circuits

(D) None of the above

How many numbers are there in

Binary system ?

(A) One

(B) Two

{C) Eight

(I Sixteen

Group of Instructions is called as :
(A) Register

(B} Address

{(C) Program

(D) All of the above
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Which is a unit of CPU ?
(A) ALU

(B) CU

(C) MU

(D) All of the above

Which. of the following is not an

input device 7
(A} Mouse
(B) Keyboard
(C) Scanner

(D) Plotter

Loading of operating system in

computer memory is called as :
{A) Loading
(B) Booting
{C) Merging

(1)) None of the above
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10. What is full form of CU ? 10, CU =1 g0 8 = & ?

(A) Central Unit (A) #Z6 =5

(B} Centre Unit (B) &=% T7d

(C) Control Unit (C) T T

(D) None of the above (D) 3w | & = &

11. The octal number system uses the | 11. 2T 3% wonelt § FF9 39 #1

following digits : IqEm e § 7
(A) O to 8 (A) 089
(B) 0 to 1 (B) 0H 1
(C) 0 to 2 (C) 0% 2
D) 0 to 7 ) 0A7
12. Binary number of 10 is : 12. 10 = fesmrd g B
(A) 1111 (Ay 1111
(B) 1010 (B) 1010
(C) 1110 (C) 1110
(D) 1000 (D) 1000
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13.

14.

15,

Kilobyte is :

(A) Floppy weight

(B) Memory unit

(C) Computer speed
(D) Hard disk capacity
Decimal equivalent nf. octal number
15 is :

(A) 13

{B) 1111

(C) 24

(D) 10

Point out the odd item among the
following

{A) Keyboard

(B} Floppy

(C) CD

(D) DVD
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(A) 13

(B) 1111

(C) 24

(D) 10

frefafas 4 9 R o 9
(A) wrEE

(B) =t

(C) =&t

(D) ErerE




16. Which of the following is not an

output device ?
(A) Monitor
(B} Printer
(C) Seanner
()} Speaker
17. A pixel is :
(A) Computer program
(B) A picture stored in memory
(C) The smallest part of picture
(D) None of the above
18. Which is g programming language ?
{A) C
(B) C++
(C) Java

(D} All of the above
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18.

20.

21.

A floppy disk contains :

(A) Tracks

(B) Sectors

() Both Sectors and Tracks
(D3} I;Iune of the above

Which is not a quality of information

from the following ?
(A) Accuracy

(B) Completeness
(C) Conciseness

(D) Discipline

Which is not a Hexadecimal number

from the following ?
(A} 1F
(B) 2C
(C) 16

(D) AB
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(B) #FH
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(D) 3w # & w9
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e # B wrh yrarefowe den @
% ?

(A) 1F
(B) 2C
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22. What iz an operating system 7 22, wfqifEn fomm wm & 7

(A} Mieroprocessor (A) FTEHITEET
(B) System software (B) oy dieda
(C) Memaory (C) =@

(D) Translator D) s

23, What is the unit of Frequency 7 | 23. g =t = =0 % 7

(A) Hertz (A) T
(B} Watt (B) 3=
(C) Volt (C) Hr
(D) Decibel (D) 2drm

24. Which of the following is not an | 24. fr/= § @ s stofen fomn T

operating system 7 t 2

(A} Unix (A) gF=m
(B} DOS (B) =fg
(C) Windows (C) gy
) Office D) s
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25, Dot-matrix is type of : 95, =h-iftm ™ TR ® -

{B) Printer
(B) fir=x =1
(C) Disk
(C) Tex=r =t
(D) Bus
(D) 99 5l

26, The two kinds of main memory
26. & wwR ¥ 0= wfa § o

B .

(A) Primary and Secondary (A) wfs sit s
(B) RAM and ROM (B) tm 3 im

(C) Random and Sequential (C) TvzA i deEE

(D) All of the above D) E i

27. The first electronic computer in the
97, & @ 9UR TEEEIE SRSl 9l

world was :

(A) UNIVAC
(A) UNIVAC
(B) EDVAC (B) EDVAC
() ENIAC (C)y ENIAC
(D) All of the above D) T |

1207/P/Arts 10




28, Portrait and Landscape are . 98, TEz TH ey ¥

(A) Page Orientation (A) T= iz
(B) Paper Size (B) Tm @ER
(C) Page Layout (C) TH T
(D) All of the above . (D) 39 A

29. Which technology is used in compact | 29. #tfe fewm # bt dfret sm

disk ? At & 2
(A) Mechanical (A) Hafera
(B) Electrical (B) seife®a
(C) Laser (C) ﬁﬁr{
(D) Electromagnetic (D) s
30. F1 is used for : 30, F1 f&m &m smen & 7
{A) Cut (A) FZ
(B) Help (B) ¥
(C) Delete () fesm
(D) All of the above (D) =9d= =4
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31 Page available on web are written | 31, %% W IF™y 99 fod = £ .

= (A) HTTP #

Pt (B) HTML #

(B HEEML (C) Binary #

ol ey (D) BASIC #

(D) BASIC 32, T KB e ¥ ;
32. One I{H.is equal to : (A) 1000 ==z

S, 100 ge (B) 100 A5z

el (C) 1024 =z

(C) 1024 Byte (D) 360 wEe

(D) 360 Byte 33, fe= 1 ¥ ¥ wium.-afew =1 um
33. Which is not a part of MS-Office ? W E 7

(A) MS-Word (A) TRE.-TE

(B) MS-Excel (B) T8, -

(C) MS-Access (C) vH.un.-T0g

(D) MS-Windows D) vATE.-fardra

1207/PfArts 12




 Which printer makes noise during

printing 7
(A) Dot-matrix
{B) Laser
(C) Inkjet

(D) None of the above

_ FAT stands for :

{A) Format Allocation Table

(B) File Accessing Technique

(C) File Allocation Table

{D) None of the above

96. DNS stands for :

(A) Direct Name Service
(B} Domain New System
() Drop Name Service

(D) Domain Name System

1207/P/Arts
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36.

ﬁﬁﬁﬁﬁi‘mfﬁaﬁaﬁmﬂm

o & 7

(A) Ere-ffem

(B) =19

() e

(D) TrE A | E T

TRLE H zd ¥ o:

P.T.O.




37.

38.

39.

40.

The fastest memory
system ig :

(A} ROM
(B) RAM
(C) Gal:i‘le
(D} None of the shove

Which of the
presentation software ?

(A) MS-Windows
(B) MS-PowerPoint
(C) MS-Exeel

(D) MS-Word

Which of the following works in a
very limited ares 7

(A} LAN
{(B) MAN
(C) WAN
(D) None of the above

in computer

following is a

In Windows, deleted files are
stored in -

(A) Folder

(B) Recycle bin
{C) Desktop

M) My Doeument

1207/PiArts
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38,

39,

(A) im

(B) W

(C) 1

(D) =9gF 8 4 5 o

ﬁwﬁ#ﬂﬁmﬂﬁaﬂmmmmém
)

(A) TH.UH, - faueg
(B} TH.NE.-Yaratee
(C) .75
(D) o8-

ﬁnﬁﬁﬁﬂﬂm%ﬁﬁ?ﬁﬁaﬂﬁﬁw
FW k7

(A) &9

(B) =

(C) &7

D) 3w & F 51 55
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Bt ¥ 7

(A) WieE?
(B} funfFe fas
(C) Evpely
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41.

432,

43.

Short-cut keys for copy and paste
are :

(A) Cirl+X, Ctrl+V
(B) Ctri+C, Ctrl+V
(C) Ctrl+X, Ctrl+C
(D) Ctrl+X, Ctrl+Y

The short-cut key for saving a
report is :

(A} Ctrl+S
(B) Ctrl+P
(C) Ctrl+A
(D} None of the above

In Binary addition, 1 + 1 + 1
is equal to :

(A) 3
(B) 10
© 11
) 101
Which function finds the largest

number in a range 7
(A) Averagel )
(B} Count{ )

(C) Max( )

(D} None of the above
1207/PlArts

41.

43.

w7 =2 & f -z e
F WE R § 7

(A) Ctrl+X, Ctrl+V

(B) Ctrl+C, Ctrl+V

{C) Ctrl+X, Ctrl+C

(D) Ctrl+X, Ctrl+Y

Tt frir =1 ¥ %27 # o ve-mz
ETil g

(A) Ctrl+8

(B) Ctrl+P

(C) Ctri+A

D) 39 ¥ | =5 =6

ol Sz d1+1+1o9g0 %
(A) 3

(B) 10

(C) 11

(D 101

o 4 ofysos 9= 30 =9 F o
TIE EEA FAW e 7

(A) Averagel )
(B} Counti )
(C) Max( )

(D) Tvgma # | #1¢ w1
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45,

47.

48.

Formula in Excel starts with :
(A) %
(B) =
(C) +
(D) -

Which of the following is used for
modulation and demodulation ?

(A) Modem
(B) Protocol
(C) Gateway
(I Multiplexer

Which of the following languages is
related with computer ?

(A) Machine

(B) Assembly

{C) High level

(D) All of the above
VDU stands for :

(A) Video Display Unit
(B) Video Device Unit
(C) Visual Display Unit

(D) None of the above

1207/PfArts
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46.

47.

48.

e § oF feed g g w7
(A) %

(B) =
(C) +
D) -

o= § & # dfEgaws am 2-AEgeTE
#wm o ¥ 7

(A) =27

(B) Wl
(C) Tr=d

(D) HEEIEEET

frefetan # § F@E ww Fog2 |
wafam ¥ 7

(A) ==

(B) EE

(C) Teawma

(D) =g wsd
HEtg A owe E o
(A) fafed foed o
(B) fafead 3w T
(C) fagem fers s
(D) T & & = T




49,

all.

61.

Which is not & Memory ?
(A) RAM

(B) ROM

{C} Motherboard

(D) Cache

Which of the following is a system

software 7

(A} MS-DOS
(B) MS-WORD
(C) MS-EXCEL

(D) MS-POWERPOINT

Which of the following is a search
engine 7

{A) Chart

(B) HTML

(C) Internet Explorer

(N Google

MS-Word file extension is :
(A) xls

(B) ppt

(C) .doe

(D) ot
12070/PfArts
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49.

&0,

al.

52.

et wyf A & 2
(A) 'm

(B) i

(C) wetErE

(D) &7

Fefafas 4 3 smm foen o
| 3

(A) TRUH.-3M9

(B) wn.Ua.-F%

(C) A8~

(D) TR -

e 8§ & % v Som % 7

(A) =F

(B) T=Erome

() Fﬁz TR

(D) T

TAUH.-T2 # RS R R e

& .,
o

(A) xls
(B} .ppt
(C) .doec
D) .txt
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a3,

&3,

58,

Hexadecimal letters A through F
are used for decimal equivalent

values of :

(A) 1 through 6
(B) 9 through 14
(C) 10 through 15
(D) 11 through 17

How do you ereate a new directory
called “flower” in UNIX ?

({A) newdir flower
(B) mkdir flower
(C) erdir flower
(D) ereatdir flower

Internet Explorer and Firefox are
called as :

(A) System Software
(B) Utility Software
(C) Browser

(D) Internet tools

Which of the following is not a
domain name ?

(A} .gov
(B) .com
(C) .dev

(D) .org
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56,

vaefans e A | F 3 symes
T % wnwy I # owm § 7

(A) 1886

(B) 9 8 14
(C) 10 | 15
(D) 11 & 17

afg # A1 “fllower” 9 H1 SEE]
A 7 E 7

(A} newdir flower
(B) mkdir flower
(C) erdir flower
(D) creatdir flower

: T 99 FRTEREE FEEn
%

(A) Toem wiged

(B) gfzfdt sfwam

(C) FEIL
(D) T2 IF9

frefatas 8§ 9 F9-T 20F T Tl
t 2

(A) .gov
(B} .com
(C) .dev

(D} .org




aT.

a8.

5.

6.

Which of the following does not store
data permanently 7

(A) ROM

(B) RAM

(C) Floppy Disk

{D) Hard Disk

Octal number system consists of
oeenss AgEIES.

(A T
(B) B
(C) 9
(D) 10

In the print dialog box of Word you
can select :

(A) All pages
{(B) Current page
(C) Selected page
(D} Any one

A eell range is represented s
follows :

(A) (A6.....AB)
(B) (A6 — AB)
(C) (A6 : AB)
(D) (AB, AB)

1207/P/Arte
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89,

ﬁﬂﬁﬁﬁﬂﬂiﬂﬂwﬁmﬁm
o = & 7

(B) 8
(C) 9
(D) 10

w2 # fiz sraetn otm # 599 A =0
?Hﬂ'a'aﬁ':

(A) Al T
(B) ®ehlicis T
(C) =aFE 7=
(D) w1 W1 TH
w fw wt tw owiE W o E o
(A) (AG.....A8)
(B) (A6 — AR)
(C) (A6 : AS)
(D) (A6, AB)
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61.

62,

64,

Who invented the ‘¢’ language ?
{A) Dennis M. Ritchie

(B) Nikulaus Writh

(C) Seymour Papert

(D) Donald Knuth

Which of the following techniques is
best suited for bank cheques ?

(A) OCR
(B} OMR
(C) BAR
(D) MICR

In Excel the intersection of row and
column is called :

(A) Square
(B) Cell

(C) Cubic
(D) Rectangle

Which of the following is the
element of the print preview 7

(A) Zoom
(B) Print
(C) Next
(D) All of the above

1207/P/Arts
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62,

‘C = W ey oW o
(A) T . fisit

(B) FaFs fig

(C) HHm fud

D) 2z 9u

ﬁﬁﬁéﬂﬂﬂﬁrﬁtﬁ!ﬁﬁﬁhﬁﬂﬁﬁ:
o weifes s & 2

{A) OCR
(B) OMR
(C) BAR
(D) MICR

Wﬁﬁﬁﬁﬁwmﬁﬁﬁﬁ
Feemm ¥

(A) =
(B) &=
(C) =4

(D) =

. = i A A o e o s

¥ 2

(A) =H
(B) fia=

(C) ==
(D) TvfEm ot




